FREED 5 —DOHRER (51 6 FE(2024)F13E)
1T ADOEROFREICETSED (ZRIER)

(8347 = mg/L)

15H BEOKEEEM@E | T HEA SR Iz EREB1|EEIE2
ARIYLRUEDIEEY 0.03] <0.003] <0.003] <0.003[ <0.003[ <0.003] <0.003
7 EEY ] <. ] <. ] <. ] <(. 1 <. ] <. ]
FHi&) LAY <0.1]  <0.1] <0.1] <0.1]  <0.1]  <0.]1
RO ZDIEEY 0.1] <0.005] <0.005] <0.005] <0.005] <0.005] <0.005
NE2Z OLEEY) 0.5] <0.05] <0.05 <0.05] <0.05 <0.05 <0.05
EXMUOZDILEY 0.1] <0.005] <0.005] <0.005] <0.005] <0.005] <0.005
2KER 0. 005[<0.0005[<0. 0005/ <0.0005[ <0.0005[ <0. 0005] <0.0005
7ZILEIVKEBIEEY) [mESNZVZ & <0.0005[<0.0005[<0.0005[<0.0005[<0.0005/<0.0005
PCB 0. 003[<0.0005[<0. 0005/ <0.0005[ <0.0005[ <0. 0005] <0.0005
rJoO00TFL 2 0.1] <0.01] <0.01] <0.01] <0.01] <0.01] _<0.01
Fr>o00TFL 2 0.1] <0.01] <0.01] <0.01] <0.01] <0.01] _<0.01
D‘ODDX@‘J 0.2] <0.02] <0.02] <0.0?2] <0.0?2] <0.0?2] <0.02
gig{bix & 0.02] <0.002] <0.002] <0.002] <0.002] <0.002] <0.002
1,2-o-o00I45> 0.04] <0.004 <0.004] <0.004] <0.004] <0.004] <0.004
1,1 ooOQOITFL Y 1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1
YZ-1,2-¥o00IFLY 0.4] <0.04] <0.04] <0.04] <0.04] <0.04 <0.04
1,1,1-)oO00IT%9 > 3 <0.3]  <0.3] <0.3] <0.3] <0.3] <0.3
1,1,2-k)o00xT9 > 0.06] <0.006/ <0.006/ <0.006/ <0.006[ <0.006/ <0.006
1,3-Uo007O0~RY 0.02] <0.002| <0.002| <0.002| <0.002 <0.002| <0.002
FIOS LA 0.06] <0.006/ <0.006/ <0.006/ <0.006/ <0.006/ <0.006
IR 0.03] <0.003] <0.003] <0.003][ <0.003[ <0.003] <0.003
FARAIT 0.2] <0.02] <0.02] <0.0?2] <0.0?2] <0.0?2] <0.02
NVE] 0.1] <0.01] <0.01] <0.01] <0.01] <0.01] <0.01
LI KROZFDIEEY ”—JJII(?b; <. (0)02 <(0.005] <0. (0)0? <. (0)02 <. (0)0? <0.005
= N N pia] . - <{. . <. -
SRR B s == =
< o N 3 <0. - <. <0. <0. -
P ORRUTEEN e s — 03 = = 208
1L,4-IAF52 0.5] <0.05] <0.05 <0.05] <0.05 <0.05 <0.05
Z2XRLEY 100 5.2 7.9 1.3 7.9 1.4 8.6
A4 AXI 10 - 0. 00062 - 0.0041] 0.00047] 0.00011
fmE X YA4FAFXIVEDOEAE pg-TEQ/L
2 HEREOR2(CETZED (EERRIFEER) (BAfL = ma/L)
BKEEEXET i
5B HEEIC K BEE T HEA HiR itz BERE1|IEGIE2
() WFAFE
pH 5.8~8.6 7.0 1.1 6.9 7.0 7.0 7.1
SS 40 2 <] <1 2 <1 ]
BOD 15 1.6 2.0 1.0 1.5 0.7 1.0
COD 160(120) 1.3 6.8 7.2 8.2 6.0 7.1
KISEEHR ({8/cn’) (3,000) 10 36 6 18 11 45
- SiYmE b
ANFT BB BhHEY AR <1 <1 <1 <1 <1 <1
21/ I)VESE= 5  <0.5] <0.5] <0.5] <0.5] <0.5] <0.5
ﬁﬂ 8= 3] <0.02[ <0.02] <0.02] <0.02] <0.02] <0.02
HINEHE 2] <0.05] <0.05] <0.05] <0.05] <0.05] <0.05
é‘:’%‘éﬁ% 10 0.10 0.05[ <0.05 0.08] <0.05 0.07
EVIHIEE=S 10 0.09] <0.05 0.08 0.08] <0.05[ <0.05
J20L88= 2| <0.05] <0.05] <0.05 <0.05 <0.05 <0.05
PEXR 120(60) 6.5 12 9.3 9.2 8.7 9.9
£V A 16(8) 0.25 0. 87 0.14 0.39 0.13 0.27




